= 11«12 B 17 88 % & =
H | Mg 11H HI|®#|12H
1| sk | BMZEES BRH | [ 4 [ 1 2F0K72MQ
1 4¢ CBT $ebifesRa e Y e Ay
2 | K| #RAFRH 2 | &=
3| & |t H 3 | H
AT
4| & 4 H 7)—VFy V=V
5B | ms 5775 | k| EasiE R
6 | A | AT 6 |k |#MEES
7| k| &Bavs—1 7 | K
8 | /K | Bz sz |8 | & | 14 6 - 7HR#ESES
AR PR
BT
10 ﬁ REEET NN L B 10 E[
11| + 11| H
12 | H 12 | &
13| H |k (10/28H) |13 |/ | 1FEL—L
14 |k | BRDOH 14 | K | 148b—1
BT A SEPIRLITG ILE
15 | K mw%ﬁw) R 14EED—L
SE M -
16 7k (3@*?&?7%) |16 j:
SH Mk
17 é (3¢4F?&:J}\v|‘> i 17 E[
18 | - 18| H
19| H 19 | k
BRI T AR
200 AL 20K S pzas
g | S E Mk -
21 )\ (3@*?&?7%) 7121 7k
— TER
¥ » & H o o
23 | 7 g | 25 | £
SEMEKT A MO
24| & | pir 2 pmase | 24| H
ZHEREH (~1/7)
25| & 25| R 3 smmm e
26 | H 26 | k| AX—vHE FLE)
BRI - s PR LTI
271 A 27 | 7k (~1,/4)
28 | k 28 | K | BAIFH
29 | 7k 29 | & | BAIFH
1 28WEKFT2+O
STUN [ N | 30 + | BAFFHE
31 | H | BAFFH

> 118 IEI#.

BiEGAE AR A -7- ik - fthigk 1 O) -
HoEHEA AHIENEL L ZESEUS>THIFEAD ?

6+ Tt DZIMAE DT

10H18H JIIOWREHEKRS
<HF> S5MAH 6145468
1X
2 X
3
4 X
5
6 X
<KT>
1X
2 X

3

(XA - #7)

9fi 484008

11A5H (H)
[ERA K=Yt v &2 —KHK] Dhhr
T FRT10:30~11:00
TERTREILDEBERH Y £ 5,




